R b= boay 2

T —IVRREICB T 5l E

20 10
1998 31 10 10>=<
10>< cm 10
0.8dS . 24 1.2dS N
30 1.5dS -~ 15 25 1.3dS - 21 27
1.0dS 1.1-1.5-51.8-1.6-1.3dS 1.3dS
20 10
20 40
¢9)
25
ds ds
@
40 19
3) 10 29.5
23.1
)
(5) 1.3dS/m
200 600L
10 15 0.8 1.5dS
15 1000 1200L 15 1.6 1.7dS
15 1.3 1.0dS 15 20

- 15 -



— - —e—  ...A--- _—
18 1800 __
E 12 1200
0.6 600
0.0 Il Il Il Il O
9/9 11/11 1/11 3/11 5/11 7/11
— PR — A
10 1
8 |
£
g °
4 +
2 |
0
10/27 11727 12727 1/27 2/27 3/27 427 5/27 6/27
— - —e— .-
10 ¢
8
=
% 6
4
2
0
10/27 11721 12/27 1/27 2/21  3/27 427 5/27 6/27
(D)) D))
(t/102) (%) (9) (t/102) (%) (9)
29.5 84.3 172 44 9 19.3 70.1 145 53 19
25.5 78.8 156 46 15 25.5 78.8 156 46 15
26.9 82.9 169 47 11 22.2 71.7 147 42 20

- 16 -



